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36,000

3,600
32,400

O
=}
0z
on o
THo
E
%
H
0x
oy

M H

Ol 2 At 100,122 90,000 10,122

50,061
16,687
33,374

MW

402 212t Xt=01& 100,122 90,000 10,122
50,061
16,687
33,374

M H

N
o
Ny
b
I
>
9
H
P
°
>
=
o

100,122 90,000 10,122
100, 122

50,061
16,687
33,374

O
o
0z
O
Mo
=
%
=
0
=
1)

MW

103,752

59,172

44,580

17,252

2,172

15,080

250% *3,000&

Eg= 300,000& =102/

14,250

750
500
3,000

660

13,590
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SN HEAMD
M OfME2YUN
el Sl ZaToH X (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OMHMXel HHE ™MeldlE 40,000 2500t 2| 10,000
02 2324l 3,002 1,512 1,490
O0MEE 22 I RFH
1,390 *120L*12& 2,002
OM2MELD &MIIe= 1,000
206 M= Hl 4,000 4,000 0
01 M= 4l 4,000 4,000 0
OsdiE= OoisIt JILH 25
40,000& = 1004 4,000
301 LEd = 72,500 53,000 19,500
1224 = 72,500 53,000 19,500
OROIMESE 2243 60,000
— ety 70,000& =8000} 2| 56,000
— DX 10,000& =4000t 2l 4,000
OEESULYX MHMMel(HEY) 28 243
50,000& *2500t 2| 12,500
405 XHoHF S HI 10,000 0 10,000
01 AL EZFH S 10,000 0 10,000
OXEUHX 228 N2MF0 7
10,000,000& *1JH £ 10,000
HOIS A Hel 6,973,189 2,558,629 4,414,560
2 413,000
s 6,560,189
HIOIZ SEXMelAE 2 6,973,189 2,558,629 4,414,560
= 413,000
s 6,560,189
HIl2 SEX2AlE 22 5,110,328 2,358,629 2,751,699
101 @124l 1,320 65,490 264,170
04 JIZHHZ2XNSE+ 1,320 64,690 A 63,370
OHJIE MelAldg =8 ZHiDI 1,320
201 Let24El 131,817 142,248 A 10,431
01 At 22l 49,958 62,596 A 12,638
OAI2Z HIIISHMelAlE =2 A 17,080
— &&= =ZEZAHl 330,200 200 A x123 7,925
— ELQAA 1,000,0002! *4Jf 2 *13] 4,000
— &ML SE A
164,500 * 10 2 x4 3] 658
— Kot =& & At 164,500& 6K 2~ x4 3] 3,948
— AFZA 274,200 200 213 549
OAESE HIIS2HEAE EL L =2 HAtH| 22,894
— Xot >ZHAAHI(MM3, HE2, H=E2, Z
2) 164,500& 9K A x4 3] 5,922
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SN BHSAMD
M HII2 FAMFQ Hel
el HOIE EEXelAlE 2el (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
—ot& = =& Z At 27,000 xQIH A *43| 972
—ELIHA 1,000,000& *169H £~ 16,000
O1ul =l 1,200
— &S 150,000 x2H «23| 600
— gst= 200,000& »x2H 400
— & s 50,000& »2F 2 ¢l 200
OHIAMEE, EExHMaAANE 22425 72
250,000 1200 & 3,000
OsHEMHIESEHMUANE HItEHE S
290,000& 1200 & 3,480
OHYIS22IE =S4l 8,000& 3% «12& 8L 2,304
02 =224l 81,859 79,652 2,207
OZ23R2= 56,400
— M) (sEHIISSEHAL)
4,500,000& 122 54,000
— 4ot R3 200,000 123 2,400
O EANLE =&KXl 2,000
Oxtg & A48IAHBH =X
2,000,000 *3CH 6,000
OX&H =l 14,159
—83=z2 1,388& x3,000£ *1CH 4,164
—HEE =401 1,388& %6,400£ =10CH 8,884
—HEEEZEH 1,388& %8004 1CH 1,111
O Xtg & Zdl EIIZFA 100, 000& *3CH 300
OSEIZANE 28 A2H A
500,000& x6H 3,000
202 04l 2,880 2,880 0
01 2LHOI I 2,880 2,880 0
SEHJI2 ZHHUANL 22 27
20,0003 x3H x4 128 2,880
206 M= Hl 4,390 4,390 0
01 M2 4l 4,390 4,390 0
OlgE 4B (AsY) 100,000& = 12& 1,200
Ogd =HMelds (Ot aLlt)
40,0003 502 2,000
J HEHM(Estz2s) 17,0008 »70L 1,190
307 21201 A 1,398,921 1,398,921 0
05 RIZHRI & 3 1,398,921 1,398,921 0
OLZAE L MHESLHEAE UAAES 1,398,921
308 Xt M S0l & 144,000 128,000 16,000
07 XX SH2ARES 144,000 128,000 16,000
CHYISXME RE3 144,000
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SH: BHAMD
dH: HIlE ALH2 XL
SR HOIlE SEXcIAE 2 (&)
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
401 AIEHIZ 2 CHHI 3,227,000 415,700 2,811,300
01 A& dl 3,227,000 415,700 2,811,300
QHIISa~2AIE HEmMI &X 450,000
OA2ANE FRAE E 2 WM 277,000
O&MINEE ZHIAE 2,500,000
402 QI2tXt= 01 & 200,000 200,000 0
01 PG 2AEER (M) 200,000 200,000 0
OHJISH2AAE ZHOS XSAY
50,000,000& =401 Ot = 200,000
HIlZ2 A2AE FOHEIAML 1,402,000 0 1,402,000
401 AIEHIZ 2 CHYI 1,402,000 0 1,402,000
01 Al£HI 1,400,000 0 1,400,000
OHIISAZANE FIHEIAMY 1,400,000
03 Al £ CHHI 2,000 0 2,000
OHIISAZANE FIHEXAMY 2,000
HSB0UHXES 400,000 200,000 200,000
= 400,000
401 AIEHIZ 2 0HHI 400,000 0 400,000
= 400,000
01 A€ dI 400,000 0 400,000
ORSBHUUNER I U AALHE 270,000
2 270,000
O BUHUHXES TZEAE 130,000
= 130,000
Hees SEMNE NFAY 60,861 0 60,861
= 13,000
[Ea 47,861
101 124 4] 60,861 0 60,861
= 13,000
[Ea 47,861
04 JIZANZ22XNSE* 60,861 0 60,861
oMyl d8 dget 29 60,861
—JlzEa 73,300 x4 150 43,980
= 13,000
[a 30,980
— X 73,3003 x4H «8L 2,346
- F5=+9 73,3003 x4 H 20 8,503
—28= 54,829,0003 *11% 6,032
BHSYYH (BB D) 27,367 26,455 912
23l 27,367 26,455 912
=3 27,367 26,455 912
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SH: BHAMD
HH: dF2IIH(BZ A4
¢l =gl el xel)
= - = s
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
201 2er= Sl 18,175 17,095 1,080
01 At 2t 2l bl 17,575 16,855 720
OoadAEz AN 7¥ 50,000& 122 600
OARE SAMEX 7Y 22,9003 ~8 A 123 2,199
OANRYd STHS M= 100,000& = 105 1,000
OSAI & HA AlE 660,000 =12& 7,920
odzr=g 14,000 x 178+ 122 2,856
OAMEREE 2l 150,000& =122 1,800
O&=71, 371880 U= 100,000& =12& 1,200
02 3329l 600 240 360
Odd 1 & JIet M NdsRs S
50,0008 x12& 600
202 o4 4l 4,032 4,560 A 528
01 =L 4,032 4,560 A 528
ORAM2Y IWHOHl 20,0008 +2412&+0.7 4,032
203 R =&Yl 5,160 4,800 360
04 BN2YARETY 5,160 4,800 360
ORN2Y A2 5,160
—-Jle 430,0002 * 128 5,160
Wees(sF2A4n) 2,040,951 2,708,341 A667,390
WEAHH XK= 2,040,951 2,708,341 A 667,390
LH = 4 2Hf 2,040,951 2,697,203 656,252
701 JIEtIHSHES 2,040,951 2,697,203 A 656,252
01 JIEt2I HEES 2,040,951 2,697,203 A656,252
OFQUX A ot & BAE ZHl RE3 11,099
OHE2EMZAIE EXAME Z2Hl FE= 100,000
Odt=2=33Xeld 28 ZHIRE=S 857,948
ONEEZ=XANBSANE B8 ZUHRES 1,071,904




